Prediction of results (including shape of graphs) and prediction of conclusion for the effect of concentration of acid on the rate of reaction
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I think that as the concentration of acid decreases, but the amount of calcium carbonate stays constant, the rate at which gas is produced will be slower each time.  There will also be less gas produced as there is less acid in the reaction.

Therefore, if I were to plot all my results on one graph and use lines of best fit, I predict the graph should look a lot like this.  The first experiment with the highest concentration of acid has the steepest line and the highest ending result, with the other three experiments showing less steep lines, and lower ending results. 
Scientific explanation of my prediction
With neat acid, there are only acid molecules present in the liquid and no others.  This means that when the calcium carbonate is introduced there is a high chance of acid molecules colliding with calcium carbonate molecules and reacting to release the carbon dioxide and create calcium chloride and water.

If the acid is diluted with water, then there are not only acid particles in the solutions but also water molecules.  As the concentration decreases, the ratio of acid molecules to water molecules increases: e.g. 30 acid to 20 water, 20 acid to 20 water, 10 acid to 30 water.  This means that there are less acid molecules and more water molecules and thus there is less of a chance of the calcium carbonate molecules colliding with acid molecules.  Therefore, there is a slower reaction with a lower end result. 
